*¥2027159

¥2027183+

*3940837

%3938586

2260222 (NOT SHOUN,

¥ 3929831 (NOT SHOWN)

NOTE: ITEMS MARKED WITH. AN (%) ARE. ONLY INCLUDED N

KIT #3938022 (SEE *W_mZDHD

PROCEDURE: —~ LPG SYSTEM SECONDARRY REGULATOR REPLACEMENT

1. SHUT OFF LPG AT TANK.
2. LOOSEN 3/8 FLARE NUT AT BOTTOM OF REGULATOR.
3r44000 3. BEMOVE REGULATOR (UNSCREW AT TOP FITTING).
2627399 4. REMOVE FITTING FROM BOTTOM OF RESULATOR AND INSTALL IN FISHER
REGULATOR, P/N 3931763.
/ 5. CUT WIRES TO MARSHALL BRASS SOLENDID (CLOSE NOID).
5. REMOVE HAND SHUT OFF VALVE, MARSHALL BRASS, ANO FITTINGS UP TQ 1/2°
2626664 CROSS. HOLD CROSS WITH PIPE WRENCH SO TUBING WON'T BE DEFORMED..
7. DRILL 3/8" TO 13/32" DIA. HOLE THROUGH BOTTOM REFRIGERATOR COMPARTMENT DOOS
2205119 FRAME WOOD MEMBER (2 1/2" TO 3" TO RIGHT SIDE OF 3/8" LINE) AT A
30° ANGLE WITH THE VERTICAL SO THAT IT WiLL EXIT THE OUTSIDE St
APPROXIMATELY 2 BELOW VENT DOOR FRAME (SEE DETAIL A,
e PLYWOOD FLOOR IN 8. INSTALL NEW SOLENOID VALVE, (AFC) P/N 3948897, WITH FITTINGS, P/N
\ REFRIGERATOR COMPARTMENT 2027183 NIPPLE, 2027159 BUSHING AND 3938586 ELBOW INTO 1/2" CROSS.
\ 9. INSTALL FLBOW, P/N 2285118, IN VENT (TOP) OF NEW REGULATOR SO IT
_ REFRIGERATOR VENT FRAME - EXITS TO THE RIGHT.
\ / 3 PPROX 18. INSTALL 3/8" X 1/2" FL CONNECTOR, P/N 2026664, IN T0P OF REGULATUR.
\ - rhReA 1. INSTALL REGULATOR AND ATTACH 3/8 FLARE NUT AT BOTT
\ P 12. INSERT 1/4 TUBING (P/N 2202182) (SCREEN ENC) THROUGH HOLE DRILLED IN STEP 7 AND
B | \\ CONNECT TO 1/4" ELBOW ON REGULATIA. SCREEN END SHO PROTR
THROUGH THE BODY BPPROXIMATELY 7/8". SERL AROUND TUBE WHERE IT GOES
THROUGH WOOD MFMBER.
] 13. CONNECT WIRES CUT OFF IN STEP § TO NEW SOLENOID VALVE.
: 14, INSTALL CLAM SHELL COVER, P/N 3938891, OVER EXPOSED VENT TUBE SCREEN
SO BOTTOM OF COVER IS FLUSH WITH BOTTOM OF SCREEN. USE A #32 DRIL!
2202107 TO PREPARE HOLES FOR #6 SCREWS,
15, BEND 1/2" COPPER TUBING TO MAKE EN TOP OF REGULATO
, FNDID VALVE FL PN 3744080,
— COPPER VENT 16, GRS TECTION r OF 37579536
@v (MARSHALL BRASS/PMM. :
17. TURN ON LPG AT TANK.
18. LEAK CHECK ALL FITTINGS.
3931763 19, CHECK FLOW 8Y LIGHTING RANGE BURNER.
m *¥ NOTE: ON SOME 1983 MODEL COACHES THERE WAS NO SOLENOID SHUT OFF OR LiAK
| DETECTOR AT REFRIGERATOR ON INSIDE OF COACH. ; THE
m SOLENOID VALVE AND FITTINGS WILL NOT BE INSTALLED: A P/N 22
P ;// CONNFCTOR WILL BE INSTALLED IN THE 1/2" CROSS AND 1/2 TUE $0
JUTSIDE SKIN OF CORCH = / IT WILL DIBECTLY CONNECT TG THIS FITTING.
2186415 , / ~ REMOVE SCREEN FROM REGULATOR (3931763), EPOXY TO 1/4 TUBING (2282192
. TN
NCLUDED ONLY IN KIT # 3939170 sess . DETAIL A C zd
MARTERI WWN ;
20 FE e [N
§2 L HRY2s 199p ; i
£ M :
9 .. B M«u.,mémw,u,(nm 3Y31771,A00ED 3929631 A NP " Tsmian 1se |
AT O TR TYPE A ADCED NOTE ON SCREEN _ Amw w lgsioc /90
N O mﬁﬂi REVISIONS aPp, _ECM:m
4uwm<mm' T - Mwmwumwmu ~ mNcm FORT <1&n<{%&@mmc\w.~oﬁ%®m ﬁ
s —— 1" DIAGRAN, LPG VENT, REFRIGERATOR
e Lo ODZ\me.\‘ZWZﬂ TJWIPD FIX ’

UNLESS OTHERWISE SPECIFIEL .f — ce

LR 8/18/89 8Y  AMW SIZE PR

e e AP 9/22/698Y NP m wmwmx mm

K. BY




